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Dentists Hate It!

. $1565.16

l\)am@

$368.35

$1375.16 151,354

$371.35 $831.39

I 143,354

Do the exercises below and find your answers in the recténgle. Shade in each area
containing a correct-answer.-You will discover what dentists hate!

347 664 780 869
+ 125 @ + 298 @ + 635 @ + 37

6,238 8,005 4.,71 7 9,646
+ 1,947 @ + 9,375 @ + 7,638 + 956

54,728 (10) 77,436 13,721 38,964
£ 5403 .+ 65,918 ® + 8,090 + 47,276

+$g';g $54.60 (15) $917.55 $726.16

+ 19.45 + 63.84 . + 839.00

@ 6,346 + 879 4,607 + 25,798 $338.75 + $29.60
587 + 60,974 (21) 8,416 + 907 (22) 49,000 + 4,900

—

MIDDLE SCHOOL MATH WITH PIZZAZZ BOOK A
© Creative Publications A-25 TOPIC 3-b: Addition: Two Addends

69°9¢

2899 |
61°68G6$
bL'e
889'cE
88'9$
61°265$

highest mountain in the world, i
.. Mt. McKinley in Alaska, the hig

a, is 20,320 feet high. How muct

arest?

93,611
®— 85,025
@ 13,694 — 87

exercise letter in the box

on Fire?
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Dentists Hate It!

. $1565.16

$981.39

$368.35 7 205

$1375.16 151,354

e, $831.39

I 143,354

Do the exercises below and find onr answers in the rectangl_e. Shade in each area
containing a correct-answer.-You will discover what dentists hate!

347 664 780 869
+ 125 @ + 298 @ + 635 @ + 37

6,238 8,005 4,717
+ 1,947 @ + 9,375 @

9,646

+ 7,638 + 956

54,728 77,436 (1) 13,721 (12) 38,964

+ 5,703

+ 65918 + 8,090 + 47.276

$6.79 $54.60 $917.55 (16) $726.16

+ 2.98 + 19.45 + 63.84 + 839.00

@ 6,346 + 879 4,607 + 25798 $338.75 + $29.60

587 + 60,974 @ 8,416 + 907

MIDDLE SCHOOL MATH WITH PIZZAZZI BOOK A
© Creative Publications A-25

@ 49,000 + 4,900

—

TOPIC 3-b: Addition: Two Addends
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Do each exercise and find your answer in the rectangle below. Cross out the box that f
contains your answer. When you finish, write the letters from the remaining boxes in i
the spaces at the bottom of the page. :

3,817 @ 4,785 @ 94,276 @ 70,831
+ 5,966 ~ 1,397 + 8,059 — 4674

@ 2,995 @ 56,148 @ 688,914 8,493,281

386 661 392,806 4,087,556
+ 8,270 + 7,549 + 45,777 -+ 2,269,449

31,835 754,800 (1) 905416 (12) 5,000,500

— 14,908 - - 61,922 — 398,067 - 27,534
Matt ordered a Galaxy Burger and a Milky Way Shake. Galaxy Burgers
Karen ordered a Moon Burger and a large Space Drink. Calorie Chart
@ How many calories were in Matt's meal? item calories
S , Galaxy Burger 725
How many calories were“in Karen’s meal? ‘
- ! ' Star Burger 480
E;)rv; gsrr:'yeggre calories were in Matt’s meal than in Moon Burger 365
Jennifer ordered a Star Burger, Astro Fries, and a small Space Drink. AElre Fl’l(:l‘S s
Mike ordered a Galaxy Burger, Saturn Rings, and a Milky Way Shake. | Saturn Rings 195
How many calories were in Jennifer's meal? Milky Wa)" Shake 430
@ How many calories were in Mike’s meal? SpEgE Drfnk, @rge 120
Space Drink, small 85
How many more calories were in Mike’s meal than in - -
Jennifer’s meal? v Our Burgers Are Meteor
PH TH GR AB ON EE uz 00
692,878 | 3,388 650 4,913,966 | 14,850,286 495 525 505
CA LL LA CcO zY ou BE | sI

66,157 | 64,358 1,350 | 4,972,966 | 14,920,286 9,783 507,349 | 1,280

CK GN ow | Ac AL LS m | IN
503,449 1,127,497 | 1,145,497 | 11,651 | 102,335 §

i J

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A

© Creative Publications A'29 TOPIC 3-f: Review: Addition and Subtraction



N o e @Q-h;w/\ f Swazie
What Did George Washington Say
To His Men On March 392

Write each fraction in lowest terms. Find your answer in the
adjacent answer columns. Write the letter of the exercise in
the box containing the number of the answer.

@ 2 g@%

@ % Answers: g @ % : Answers
O% @t @7 102 |o:@:
/
® ¢ ®%t 0% [®}F @% ® %
® 2 ®%®%§C%- @ @2
/
® L @F ®+ O+ @+ @

k\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘

® % ACF:
{ Z
@ —12—(5) | Answers: % @ % Answers:
' 7
® 2 D5 @F IO ®% @2
z
¥
© 3 OR MCE I KOF- ®% @2
| ' 7
® 5 ®F ®F [ O% ® % ©h
7
® & ®: @t ®1 @E @+
1121314]5]6|7[8[9]10][11]12[13]14]15]16 |17
6 Croativ Putiostony | ZAZZIBOOKS o oy

TOPIC 2-g: Lowest-Terms Fractions



k%%UTVl%D

fﬁuazlék'

PDame
Evaluating Expressions (A) |
Evaluate each expression using the value given.
l.c—c .a—2 11. 6 —
(c=6) ( =17) (c=5)
2. 6y 7. 82 12. c—c¢
(y=9) (z=6) (8 ="7)
3.c-c 8. 2v 13. 8+u
(c=4) (v="7) (u=2)
4.9+a 9. Su 14. b+5
(@ =2) (u=4) (b =2)
5.v-v 10. 5b 15.b—b
v=2) (b=3) (b=2)
B Math-Drills.com ]




Where can you hear MUSIC on an ocean liner?

Write each fraction in lowest terms. Find your answer at the right and m-ark the letter

next to it. For each set of exercises, there is one

extra answer. Write the letter of this

answer in the corresponding box at the bottom of the page.
'3 % % 0O 0% @2 0+
2l ®- B- 0t @3 ©F ©f
B % B 0% 0% 0 0
HE- B B 0f 0% 02 @
Ml % B @ 0F 04 02
bl - % 0% 05 0 ®2
T e # @% 0% @F ©F
Ble- % &% ©f ®% 0% ®2
% - @F O 02 @4
O=- #- & 0t 0 02 0t
i IS ©i O
10 ounces is what fraction of a pound? @ % @—2—

OPIC 2-g: Lowest-Terms Fractions C"28

MIDDLE SCHOOL MATH WITH P1ZZAZZ1 BOOK C
© Creative Publications
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Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in

@ 3,817 @ 4,785 @ 94,276 @ 70,831
+ 5.966 ~ 1,397 + 8,059 — 4674

@ 2,995 @ 56,148 @ 688,914 8,493,281

386 661 392,806 4,087,556
+ 8,270 + 7,549 + 45,777 -+ 2,269,449

31,835 754,800 @ 905,416 @ 5,000,500

- 14,908 ' - 61,922 — 398,067 —- 27,534
Matt ordered a Galaxy Burger and a Milky Way Shake. Galaxy Burgers
Karen ordered a Moon Burger and a large Space Drink. Calorie Chart
@ How many calories were in Matt's meal? e __ calories
S ) Galaxy Burger 725
How many calories were“in Karen’s meal? B
o _ , ) Star Burger 480
How njany more calories were in Matt's meal than in Moon Burger 365
Karen’s meal? Astro Eri —
Jennifer ordered a Star Burger, Astro Fries, and a small Space Drink. stro rlt?s —
Mike ordered a Galaxy Burger, Saturn Rings, and a Milky Way Shake. S"f‘tum Rings 195
How many calories were in Jennifer's meal? Mitky Wa)f Sha}ke» 430
@ How many calories were in Mike’s meal? SpE0e Drfnk, Fa_"ge 120
Space Drink, small 85
How many more calories were in Mike's meal than in - - i
Jennifer's meal? - Our Burgers Are Meteor
PH TH GR AB ON EE uz 00
692,878 | 3,388 650 4,913,966 | 14,850,286 495 525 505
CA | L LA Cco va% ou BE =N
66,157 | 64,358 1,350 4,972,966 | 14,920,286 9,783 | 507,349 | 1,280
CK GN ow AC AL LS IT IN
16,927 | 503,449 1,127,497

114497 | 11,651 102,335

-

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A
© Creative Publications A'29 TOPIC 3-f: Review: Addition and Subtraction



Navm e Retorn oy Swezie ke
What Did George Washington Say
To His Men On March 32

Write each fraction in lowest terms. Find your answer in the
adjacent answer columns. Write the letter of the exercise in
the box containing the number of the answer.

® 00 06 6

3 2 3

5 g@z

2 Answers: %@ ] | Answers
s ® 2 @—— DL @2
¢ |0 05i0F |0f®1t
L CENCEN KOF @1 @&
10 @ ®+ [OF |@+ @

k\\\\\\\\\\\\\\\\‘\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\'\\\\\\\Q\\\\\\\\\\\\\‘\\\\\\\\\\\\\\\\\\\\\\\\\\‘

® 3 jo3
@ % | Answers: g @ % Answers:
® % D% @F [ O f‘—

Z
© 3 OF ®f [ OH @ %

Z
® 3 CENCE S JOF - 2

2
® % R CE I NOF - ® 2
t{2[3[al5 6789101 12]13]14]15 16|17 |18 |19 |20 |21 |22 |25 [o¢ [os 1o o7 g ]
© Croatve Publations | ALABOOKE o o

TOPIC 2-g: Lowest-Terms Fractions



‘Did You Hear About ...
; B C D

A E F
¢ G | J K L
0 P Q R
; | .|

' Do each exercise and find your answer in the appropriate answer column. Notice the
word under the answer. Write this word in the box containing the letter of the exercise.

Answers A-l:

35,155
GO

8,634
NEW

37,655
RUN

599

SYSTEM

548
THE

65,151
CARS

4,812,982
ALL

1,726
WITH

6,088
THAT

| @ 5,280 — 394

2,778
SUBWAY

‘@10101—6666

4,837,982
UNDER

64,551
TRAINS

5,578
BIGGER

TOPIC 3-e: Subtraction: With Zeros

@ 704 9,017 @ 5,706

- 156 - 383 — 2,928

| 4,449 8,001 70,360
© — 3,850 ® - 6,275 ® ~ 5,809
- (@) 81,881 (H) 50,000 9,722,600
— 25,503 - 12,345 < 4,909,618
$47.29 $70.50 $800.00

O - 964 ® — 38.71 C ~ 60.25

@ 71,000 — 710

@ $90.05 — $3.49

@ Ms. Twinkle bought a car for $15,000. Five years
later, she sold the car for $8,350. How much less
was the selling price than the original purchase
priCe"

@ Leonardo bought one oil painting for $3,150 and
another for $4,675. Later, he sold both paintings
together for $10,000. How much profit did
Leonardo make?

A-28

Answers J-R:

3,435
ON .

$728.75
WHEN

70,290
 GROUND

$2,175
~ TRACKS

$6 480,

$37.65
_OVER

$86.56
THEIR

$34.75
AROUND

$739.75
BELOW

4,886
THE

© $6,650
SUB

$84.66
.CITY

" .$31 79'
TOWN

-~

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A

© Creative Publications
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What Do You Get When You

1. Cross a rabbit with a lawn sprinkler?

14,232 54,820 94,700

2. Cross a kitten with a Xerox® machine?

1,502 46,840 6,289 39880 94,700 54,820 12.105

54,820 95,300 50373 775

3. Cross two turkeys with a coal production company?

39,880 12,105 51,273 50,373 54,820 263,267

296 88,472 1,944

1,502 94,700 1,734 14,771 88,472 94,700 60,511

AAKAAAAA

‘-answer appears, write the letter of the exercise above it.

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:
Do each exercise below and find your answer in the code. Each time the

275 7,446 1,078 ) 48,350
@ 468 - @ 980 5,456 @ 9,666
+ 32 + 3,679 + 8,237 + 2,495

@ 618 (H) 3954 (1) 81449

6,289 .

337 629 193 90,553
85 ) - 588 6,756 52,896
+ 462 + 9,061 + 74 + 77,147
(S) 265 + 839 + 5,185 (M) 73 + 24 + 58 + 96 + 45
(C) 43,706 + 49 + 6,618 (N) 863 + 72 + 36 + 904 + 69
Use the table at the right for the next three questions. Area
What is the combined area of the two largest lakes? Great Lakes | (square miles)
SAMi | Eig 9,940
@ What is the combined area of the three smallest lakes? ngon 23 010
Sqmi | Michigan | 22,400
@ What is the combined area of all five lakes? Ontario 7.540
sq mi Superior 31,810

A-26

TOPIC 3-c: Addition: Three or More Addends

-

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A
© Creative Publications



Do any exercise below and find
letter of the exercise goes in th
working and you will discover t

Why did the ant run across the cracker box?

your answer in the corresponding answer column. The

e box that contains the number of the answer. Keep

he answer to the title question.

[T-15+ 7 = @7 2 [M(15+3)+14 = 2)-1
[Al8 - -21 = 8d-27 ¢ [El(-10 +-5) (2) = (4)3
[D](3) (-9) = 28 50 * H(3-4)+7= (10 55
[H=24 + 4 = 3-8 ¢ DJr9-6)+-4- (7) 30
[E]-9 + -13 = @596 o [0](-30 ——22)-6 = 12 -58
[0](-2) (-25) = 395 o [A](20 = 4)-~11 = 34) 100
[C]-50 — 30 = ()29 o [E](28 - -10)—7 = 30 9
[Gl-56 ~ -8 = (8)-80 o [1(-13 +—12) (-4) = (3131
[E]32 + —37 = (3) 22 o [L](4-—6) -8 = (21)-48
[1]-5-20 = (@12 ¢ [E¢6+17)-20= (18) 14
[T]30 +—2 = A1) -100 & [A](-64 = 2) ~ -2 = 2002
[A]~%:——19 = @77 ¢ [B(-5 - -6)--87 = 16 -9
[N]-7--11 = 26 -14 3 [T](-40 + ~50) + 9 = 35 -12
[O-7 +-11 = @9 -15 * [R](-13--2) + -12 = (6)-87
[S]-60 + -5 = (D24 ¢ N(42+-7)-6= @7 75
[T]12- 36 = (33 —26 * [DJ(-5 - -30) (3) = 15 72
[El-17 — -3 = 14) -18 e [Ll(-12 +-18) + 15 = 29 -10
ME )10 ¢ [Ts--8) --8= 19 16
........QC.............’.Q..".
112|314 ]|5[|6]7]8[9J10[1112]113 141516 [17 [ 18
ha3isRtslenseerdsierdelesoesd

24

PRE-ALGEBRA WITH PiZzzZAZzZ!
© Creative Publications

P2 R

{

:\n

S\



¢c

suonealgqnd aAnesi) @

iZZVZZ1d H1IM vHE39Tv-34d

What did ZORNA say when she married a 3-foot pygmy?

Do any exercise below and find your answer in one of the boxes at the bottom of the page. Write the letter
of the exercise in that box. The answers are arranged in order from smallest to largest. Keep working and
you will discover the answer to the title question.

868 _ A-12 + 4 = 39 _ A 750 + 10 = 3110 _
2 E 60 + 15 = @w N E-40 +-7= ® -10
© =2 - T45+-9= 54 R-150 + 2= 900 _
o = A48 + -4 = 5 - E-100 + 2 = 300
166 R-49 + -7 = s T67 +-1= 81 _
el A-3+-3= — = N -80 + —40 = 9 =
E-60+5= H150 + =5 =
_ | 430
=2 = | 0o-200+4= = R-30 + 5 = — =
A-90 + 9= T 1700 + -10 »
9100 HO+-7= V 100 + 20 = = =
-100 D77 ~-7 = T13 + 13 =
45 _ E-215 +1 = @ V120 + 4 = 48 _
3 T96 +12 = —2 M-100 + 25 = 3
600 _ E-75+-5= 1000 _ | V42+3= @2 -
4 056 +-8= 100 L80 +5= 1
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HIDDEN MESSAGE

FIRST, do each exercise and find your answer in the rectangle
below. The correctanswers run across from leftto right.
SECOND, shade in the boxes containing each correct answer.
When you finish, there will be 27 boxes not shaded in.

STARTING ON THE TOP LINE AND WORKING FROM LEFT TO
RIGHT, PRINT THE 27 LETTERS THAT REMAIN INTO THE BOXES
AT THE BOTTOM OF THE PAGE. A HIDDEN MESSAGE WILL APPEAR!

alslsisisvsleicoecslclvslclcccldsscedesiebecicceecvicce@lc

e —

1{(748)(717) = 5((715)(725)(73%) = 9| (8)("8)(™8)(78) =
21(39)("68) = 6](7100)(9)(93) = 10| (7498)(10)(20)(30) =
Sleaan = [eaecan =

11 (73)(73)(73)(73)(73) =
d)ce)1s89) = [B](-94)1)(78)(20) = H 90




